(2024) 2024:47

RESEARCH

Open Access

Some *m*-fold symmetric bi-univalent function classes and their associated Taylor-Maclaurin coefficient bounds



Hari Mohan Srivastava^{1,2,3}, Pishtiwan Othman Sabir⁴, Sevtap Sümer Eker⁵, Abbas Kareem Wanas⁶, Pshtiwan Othman Mohammed^{7,8*}, Nejmeddine Chorfi⁹ and Dumitru Baleanu^{10,11*}

*Correspondence: pshtiwansangawi@gmail.com; dumitru.baleanu@lau.edu.lb 7 Department of Mathematics, College of Education, University of Sulaimani, Sulaymaniyah 46001, Iraq ¹⁰ Department of Computer Science and Mathematics, Lebanese American University, Beirut 11022801, Lebanon Full list of author information is available at the end of the article

Abstract

The Ruscheweyh derivative operator is used in this paper to introduce and investigate interesting general subclasses of the function class Σ_m of *m*-fold symmetric bi-univalent analytic functions. Estimates of the initial Taylor-Maclaurin coefficients $|a_{m+1}|$ and $|a_{2m+1}|$ are obtained for functions of the subclasses introduced in this study, and the consequences of the results are discussed. Additionally, the Fekete-Szegö inequalities for these classes are investigated. The results presented could generalize and improve some recent and earlier works. In some cases, our estimates are better than the existing coefficient bounds. Furthermore, within the engineering domain, the utilization of the Ruscheweyh derivative operator can encompass a broad spectrum of engineering applications, including the robotic manipulation control, optimizing optical systems, antenna array signal processing, image compression, and control system filter design. It emphasizes the potential for innovative solutions that can significantly enhance the reliability and effectiveness of engineering applications.

Mathematics Subject Classification: 30C45; 30C50; 30C80; 26A51

Keywords: Analytic function; *m*-fold symmetric univalent function; *m*-fold symmetric bi-univalent function; Coefficient bounds; Ruscheweyh derivative; Fekete-Szegö inequality

1 Introduction

Let \mathcal{A} denote the class of the functions f that are analytic in the open unit disk $\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}$, normalized by the conditions f(0) = f'(0) - 1 = 0 of the Taylor-Maclaurin series expansion

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k.$$
 (1.1)

© The Author(s) 2024. **Open Access** This article is licensed under a Creative Commons Attribution 4.0 International License, which permits use, sharing, adaptation, distribution and reproduction in any medium or format, as long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons licence, and indicate if changes were made. The images or other third party material in this article are included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If material is not included in the article's Creative Commons licence and your intended use is not permitted by statutory regulation or exceeds the permitted use, you will need to obtain permission directly from the copyright holder. To view a copy of this licence, visit http://creativecommons.org/licenses/by/4.0/.



Assume that S is the subclass of A that contains all univalent functions in \mathbb{U} of the form (1.1), and \mathcal{P} is the subclass of all functions h(z) of the form

$$h(z) = 1 + h_1 z + h_2 z^2 + h_3 z^3 + \cdots,$$
(1.2)

which is analytic in the open unit disk \mathbb{U} and $\operatorname{Re}(h(z)) > 0, z \in \mathbb{U}$.

For a function $f \in A$ defined by (1.1), the Ruscheweyh derivative operator [1] is defined by

$$\mathcal{R}^{\delta}f(z) = z + \sum_{k=2}^{\infty} \Omega(\delta, k) a_k z^k,$$

where $\delta \in \mathbb{N}_0 = \{0, 1, 2, ...\} = \mathbb{N} \cup \{0\}, z \in \mathbb{U}$, and

$$\Omega(\delta,k) = \frac{\Gamma(\delta+k)}{\Gamma(k)\Gamma(\delta+1)}.$$

The Koebe 1/4-theorem [2] asserts that every univalent function $f \in S$ has an inverse f^{-1} defined by

$$f^{-1}(f(z)) = z$$
 $(z \in \mathbb{U})$ and $f(f^{-1}(w)) = w$ $(|w| < r_0(f), r_0(f) \ge \frac{1}{4}).$

The inverse function $g = f^{-1}$ has the form

$$g(w) = f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2a_3 + a_4)w^4 + \cdots$$
(1.3)

A function $f \in A$ is said to be bi-univalent if both f and f^{-1} are univalent. The class of bi-univalent functions in \mathbb{U} is denoted by Σ . The following are some examples of functions in the class Σ :

$$\frac{z}{1-z}$$
, $-\log(1-z)$ and $\frac{1}{2}\log\left(\frac{1+z}{1-z}\right)$,

with the corresponding inverse functions:

$$\frac{w}{1+w}$$
, $\frac{e^w - 1}{e^w}$ and $\frac{e^{2w} - 1}{e^{2w} + 1}$,

respectively.

Estimates on the bounds of the Taylor-Maclaurin coefficients $|a_n|$ are an important concern problem in geometric function theory because they provides information about the geometric properties of these functions. Lewin [3] studied the class Σ of bi-univalent functions and discovered that $|a_2| < 1.51$ for the functions belonging to the class Σ . Later on, Brannan and Clunie [4] conjectured that $|a_2| \leq \sqrt{2}$. Subsequently, Netanyahu [5] showed that max $|a_2| = 4/3$ for $f \in \Sigma$. Recently, many works have appeared devoted to studying the bi-univalent functions class Σ and obtaining non-sharp bounds on the Taylor-Maclaurin coefficients $|a_2|$ and $|a_3|$. In fact, in their pioneering work, Srivastava et al. [6] have revived and significantly improved the study of the analytic and bi-univalent function class Σ in

recent years. They also discovered bounds on $|a_2|$ and $|a_3|$ and were followed by such authors (see, for example, [7–14] and references therein). The coefficient estimates on the bounds of $|a_n|$ ($n \in \{4, 5, 6, ...\}$) for a function $f \in \Sigma$ defined by (1.1) remains an unsolved problem. In fact, for coefficients greater than three, there is no natural way to obtain an upper bound. There are a few articles where the Faber polynomial techniques were used to find upper bounds for higher-order coefficients (see, for example, [15–18]).

For each function $f \in S$, the function

$$h(z) = \left(f\left(z^{m}\right)\right)^{\overline{m}}, \quad (z \in \mathbb{U}, m \in \mathbb{N})$$

$$(1.4)$$

is univalent and maps the unit disk into a region with *m*-fold symmetry. A function f is said to be *m*-fold symmetric (see [19]) and is denoted by A_m if it has the following normalized form:

$$f(z) = z + \sum_{k=1}^{\infty} a_{mk+1} z^{mk+1}, \quad (z \in \mathbb{U}, m \in \mathbb{N}).$$
(1.5)

Assume that S_m denotes the class of *m*-fold symmetric univalent functions in \mathbb{U} that are normalized by the series expansion (1.5). In fact, the functions in class S are 1-fold symmetric. According to Koepf [19], the *m*-fold symmetric function $h \in \mathcal{P}$ has the form

$$h(z) = 1 + h_m z^m + h_{2m} z^{2m} + h_{3m} z^{3m} + \cdots .$$
(1.6)

Analogous to the concept of *m*-fold symmetric univalent functions, Srivastava et al. [20] defined the concept of *m*-fold symmetric bi-univalent function in a direct way. Each function $f \in \Sigma$ generates an *m*-fold symmetric bi-univalent function for each $m \in \mathbb{N}$. The normalized form of f is given as (1.5), and the extension $g = f^{-1}$ is given by as follows:

$$g(w) = w - a_{m+1}w^{m+1} + \left[(m+1)a_{m+1}^2 - a_{2m+1}\right]w^{2m+1} - \left[\frac{1}{2}(m+1)(3m+2)a_{m+1}^3 - (3m+2)a_{m+1}a_{2m+1} + a_{3m+1}\right]w^{3m+1} + \cdots$$
(1.7)

We denote the class of *m*-fold symmetric bi-univalent functions in \mathbb{U} by Σ_m . For m = 1, the series (1.7) coincides with the series expansion (1.3) of the class Σ . Following are some examples of *m*-fold symmetric bi-univalent functions:

$$\left[\frac{z^m}{1-z^m}\right]^{\frac{1}{m}}, \qquad \left[-\log(1-z^m)\right]^{\frac{1}{m}} \quad \text{and} \quad \left[\frac{1}{2}\log\left(\frac{1+z^m}{1-z^m}\right)\right]^{\frac{1}{m}},$$

with the corresponding inverse functions:

$$\left(\frac{w^m}{1+w^m}\right)^{\frac{1}{m}}$$
, $\left(\frac{e^{w^m}-1}{e^{w^m}}\right)^{\frac{1}{m}}$ and $\left(\frac{e^{2w^m}-1}{e^{2w^m}+1}\right)^{\frac{1}{m}}$,

respectively.

Recently, authors have expressed an interest in studying the *m*-fold symmetric biunivalent functions class Σ_m (see, for example, [21–24]) and obtaining non-sharp bounds estimates on the first two Taylor-Maclaurin coefficients $|a_{m+1}|$ and $|a_{2m+1}|$. For a function $f \in \mathcal{A}_m$ defined by (1.5), one can think of the *m*-fold Ruscheweyh derivative operator $\mathcal{R}^{\delta} : \mathcal{A}_m \to \mathcal{A}_m$, which is analogous to the Ruscheweyh derivative $\mathcal{R}^{\delta} : \mathcal{A} \to \mathcal{A}$ and can define as follows:

$$\mathcal{R}^{\delta}f(z) = z + \sum_{k=1}^{\infty} \frac{\Gamma(\delta+k+1)}{\Gamma(k+1)\Gamma(\delta+1)} a_{mk+1} z^{mk+1}, \quad (\delta \in \mathbb{N}_0, m \in \mathbb{N}, z \in \mathbb{U}).$$

In engineering, optimizing optical systems and designing effective control systems pose enormous challenges. Describing complex wavefronts necessitates the use of analytic and univalent functions tailored to specific optical constraints, while in signal processing for antenna arrays, employing *m*-fold symmetric univalent functions is crucial for beamforming amidst electromagnetic wave complexities, demanding innovation and precision. Control systems engineering utilizes univalent functions for filter design, where achieving the desired frequency response must align with system stability and minimal phase distortion, posing a continual challenge. Additionally, modeling complex mechanical systems requires leveraging the Ruscheweyh derivative operator to analyze functions representing system dynamics, facilitating critical parameter identification for system performance optimization. In robotics, univalent functions aid in controlling manipulators while navigating constraints related to joint angles and velocities. Moreover, in image compression and transmission for communication systems, the use of *m*-fold symmetric bi-univalent functions offers the potential for optimizing compression ratios while preserving image quality, representing an ongoing engineering challenge (see, for example, [25, 26]).

This paper aims to introduce new general subclasses of *m*-fold symmetric bi-univalent functions in \mathbb{U} applying the *m*-fold Ruscheweyh derivative operator, obtain estimates on initial coefficients $|a_{m+1}|$ and $|a_{2m+1}|$ for functions in subclasses $\mathcal{Q}_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \alpha)$ and $\Theta_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \beta)$, and improve many recent works. Moreover, we have derived the Fekete-Szegö inequalities for these classes. To derive our main results, we need to use the following lemmas that will be useful in proving the basic theorems in Sects. 2 and 3.

Lemma 1 [2] If $h \in \mathcal{P}$ with h(z) given by (1.2), then

$$|h_k| \leq 2, \quad k \in \mathbb{N}$$

Lemma 2 [27] If $h \in \mathcal{P}$ with h(z) given by (1.2) and μ is a complex number, then

 $|h_2 - \mu h_1^2| \le 2 \max\{1, |2\mu - 1|\}.$

2 Coefficient bounds for the function class $Q_{\Sigma_m}(\delta, \lambda, \gamma, n; \alpha)$

In this section, we assume that

$$\lambda \ge 0$$
, $0 \le \gamma \le 1$, $0 < \alpha \le 1$, $\tau \in \mathbb{C} \setminus \{0\}$, $\delta \in \mathbb{N}_0$ and $m \in \mathbb{N}$.

For a function $h \in \mathcal{P}$ given by (1.2). If $\mathcal{K}(z)$ is any complex-valued function such that $\mathcal{K}(z) = [h(z)]^{\alpha}$, then

$$\left|\arg(\mathcal{K}(z))\right| = \alpha \left|\arg(h(z))\right| < \frac{\alpha\pi}{2}.$$

Definition 1 A function $f \in \Sigma_m$ given by (1.5) is called in the class $Q_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \alpha)$ if it satisfies the following conditions:

$$\left| \arg \left(1 + \frac{1}{\tau} \left[(1 - \lambda)(1 - \gamma) \frac{\mathcal{R}^{\delta} f(z)}{z} + (\lambda(\gamma + 1) + \gamma) (\mathcal{R}^{\delta} f(z))' + \lambda \gamma \left(z (\mathcal{R}^{\delta} f(z))'' - 2 \right) - 1 \right] \right) \right| < \frac{\alpha \pi}{2},$$
(2.1)

and

$$\left| \arg\left(1 + \frac{1}{\tau} \left[(1 - \lambda)(1 - \gamma) \frac{\mathcal{R}^{\delta}g(w)}{z} + (\lambda(\gamma + 1) + \gamma) (\mathcal{R}^{\delta}g(w))' + \lambda\gamma \left(w (\mathcal{R}^{\delta}g(w))'' - 2) - 1 \right] \right) \right| < \frac{\alpha\pi}{2},$$

$$(2.2)$$

where $z, w \in \mathbb{U}$ and the function $g = f^{-1}$ is given by (1.7).

Theorem 1 Let $f \in Q_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \alpha)$ be given by (1.5). Then,

$$|a_{m+1}| \leq \frac{2\sqrt{2}|\tau|\alpha}{\sqrt{(\delta+1)|\tau\alpha(\delta+2)(m+1)\Phi_1(\lambda,\gamma,m)+2(1-\alpha)(\delta+1)\Phi_2(\lambda,\gamma,m)|}},$$
 (2.3)

and

$$|a_{2m+1}| \leq \frac{2|\tau|\alpha}{(\delta+1)(\delta+2)\Phi_1(\lambda,\gamma,m)} + \frac{2|\tau|^2\alpha^2(m+1)}{(\delta+1)^2\Phi_2(\lambda,\gamma,m)},$$
(2.4)

where

$$\Phi_1(\lambda, \gamma, m) = 1 + 2(\lambda + \gamma)m + \lambda\gamma ((2m+1)^2 + 1),$$
(2.5)

and

$$\Phi_2(\lambda,\gamma,m) = \left(1 + (\lambda+\gamma)m + \lambda\gamma\left((m+1)^2 + 1\right)\right)^2.$$
(2.6)

Proof It follows from (2.1) and (2.2) that

$$1 + \frac{1}{\tau} \left[(1 - \lambda)(1 - \gamma) \frac{\mathcal{R}^{\delta} f(z)}{z} + (\lambda(\gamma + 1) + \gamma) (\mathcal{R}^{\delta} f(z))' + \lambda \gamma (z (\mathcal{R}^{\delta} f(z))'' - 2) - 1 \right] = [p(z)]^{\alpha}, \qquad (2.7)$$

and

$$1 + \frac{1}{\tau} \left[(1 - \lambda)(1 - \gamma) \frac{\mathcal{R}^{\delta}g(w)}{z} + (\lambda(\gamma + 1) + \gamma) (\mathcal{R}^{\delta}g(w))' + \lambda\gamma (w(\mathcal{R}^{\delta}g(w))'' - 2) - 1 \right] = [q(w)]^{\alpha}, \qquad (2.8)$$

where $p,q \in \mathcal{P}$ have the following representations

$$p(z) = 1 + p_m z^m + p_{2m} z^{2m} + p_{3m} z^{3m} + \cdots,$$
(2.9)

and

$$q(w) = 1 + q_m w^m + q_{2m} w^{2m} + q_{3m} w^{3m} + \cdots .$$
(2.10)

Clearly, we have

$$[p(z)]^{\alpha} = 1 + \alpha p_m z^m + \left(\frac{1}{2}\alpha(\alpha - 1)p_m^2 + \alpha p_{2m}\right) z^{2m} + \left(\frac{1}{6}\alpha(\alpha - 1)(\alpha - 2)p_m^3 + \alpha(1 - \alpha)p_m p_{2m} + \alpha p_{3m}\right) z^{3m} + \cdots,$$
 (2.11)

and

$$\left[q(w) \right]^{\alpha} = 1 + \alpha q_m w^m + \left(\frac{1}{2} \alpha (\alpha - 1) q_m^2 + \alpha q_{2m} \right) w^{2m}$$

$$+ \left(\frac{1}{6} \alpha (\alpha - 1) (\alpha - 2) q_m^{3m} + \alpha (1 - \alpha) q_m q_{2m} + \alpha q_{3m} \right) w^{3m} + \cdots .$$
 (2.12)

We also find that

$$1 + \frac{1}{\tau} \bigg[(1 - \lambda)(1 - \gamma) \frac{\mathcal{R}^{\delta} f(z)}{z} + (\lambda(\gamma + 1) + \gamma) (\mathcal{R}^{\delta} f(z))' + \lambda \gamma (z (\mathcal{R}^{\delta} f(z))'' - 2) - 1 \bigg]$$

=
$$1 + \frac{(1 + m(\lambda + \gamma) + \lambda \gamma ((m + 1)^{2} + 1))(\delta + 1)}{\tau} a_{m+1} z^{m}$$

+
$$\frac{(1 + 2m(\lambda + \gamma) + \lambda \gamma ((2m + 1)^{2} + 1))(\delta + 1)(\delta + 2)}{2\tau} a_{2m+1} z^{2m} + \cdots, \qquad (2.13)$$

and

$$1 + \frac{1}{\tau} \left[(1 - \lambda)(1 - \gamma) \frac{\mathcal{R}^{\delta}g(w)}{z} + (\lambda(\gamma + 1) + \gamma) (\mathcal{R}^{\delta}g(w))' + \lambda\gamma(w(\mathcal{R}^{\delta}g(w))'' - 2) - 1 \right]$$

= $1 - \frac{(1 + m(\lambda + \gamma) + \lambda\gamma((m + 1)^{2} + 1))(\delta + 1)}{\tau} a_{m+1}w^{m}$
+ $\frac{(1 + 2m(\lambda + \gamma) + \lambda\gamma((2m + 1)^{2} + 1))(\delta + 1)(\delta + 2)}{2\tau}$
 $\times \left[(m + 1)a_{m+1}^{2} - a_{2m+1} \right] w^{2m} + \cdots$ (2.14)

Comparing the corresponding coefficients of (2.13) and (2.14) yields

$$\frac{(1+m(\lambda+\gamma)+\lambda\gamma((m+1)^{2}+1))(\delta+1)}{\tau}a_{m+1} = \alpha p_{m},$$
(2.15)

$$\frac{(1+2m(\lambda+\gamma)+\lambda\gamma((2m+1)^2+1))(\delta+1)(\delta+2)}{2\tau}a_{2m+1} = \frac{\alpha(\alpha-1)}{2}p_m^2 + \alpha p_{2m}, \quad (2.16)$$

$$-\frac{(1+m(\lambda+\gamma)+\lambda\gamma((m+1)^{2}+1))(\delta+1)}{\tau}a_{m+1} = \alpha q_{m},$$
(2.17)

and

$$\frac{(1+2m(\lambda+\gamma)+\lambda\gamma((2m+1)^2+1))(\delta+1)(\delta+2)}{2\tau}[(m+1)a_{m+1}^2-a_{2m+1}]$$
$$=\frac{\alpha(\alpha-1)}{2}q_m^2+\alpha q_{2m}.$$
(2.18)

In view of (2.15) and (2.17), we find that

$$p_m = -q_m, \tag{2.19}$$

and

$$\frac{2(1+m(\lambda+\gamma)+\lambda\gamma((m+1)^2+1))^2(\delta+1)^2}{\tau^2}a_{m+1}^2 = \alpha^2(p_m^2+q_m^2).$$
(2.20)

Adding (2.16) to (2.18) and substituting the value of $p_m^2 + q_m^2$ form (2.20), we obtain

$$\frac{(\delta+1)(\delta+2)(m+1)\Phi_{1}(\lambda,\gamma,m)}{2\tau}a_{m+1}^{2} = \frac{(\alpha-1)(\delta+1)^{2}\Phi_{2}(\lambda,\gamma,m)}{\tau^{2}\alpha}a_{m+1}^{2} + \alpha(p_{2m}+q_{2m}), \qquad (2.21)$$

where $\Phi_1(\lambda, \gamma, m)$ and $\Phi_2(\lambda, \gamma, m)$ are given by (2.5) and (2.6), respectively.

Further computations using (2.21) yield

$$a_{m+1}^{2} = \frac{2\tau^{2}\alpha^{2}(p_{2m} + q_{2m})}{(\delta+1)[\tau\alpha(\delta+2)(m+1)\Phi_{1}(\lambda,\gamma,m) + 2(1-\alpha)(\delta+1)\Phi_{2}(\lambda,\gamma,m)]}.$$
 (2.22)

Taking the absolute value of (2.22) and applying Lemma 1 for the coefficients p_{2m} and q_{2m} , we deduce that

$$|a_{m+1}| \leq \frac{2\sqrt{2}|\tau|\alpha}{\sqrt{(\delta+1)|\tau\alpha(\delta+2)(m+1)\Phi_1(\lambda,\gamma,m)+2(1-\alpha)(\delta+1)\Phi_2(\lambda,\gamma,m)|}}.$$

Next, to determine the bound on $|a_{2m+1}|$, by subtracting (2.18) from (2.16), we obtain

$$\frac{(1+2m(\lambda+\gamma)+\lambda\gamma((2m+1)^2+1))(\delta+1)(\delta+2)}{\tau}a_{2m+1} - \frac{(1+2m(\lambda+\gamma)+\lambda\gamma((2m+1)^2+1))(\delta+1)(\delta+2)(m+1)}{2\tau}a_{m+1}^2$$
$$= \frac{\alpha(\alpha-1)}{2}(p_m^2-q_m^2) + \alpha(p_{2m}-q_{2m}).$$
(2.23)

Now, substituting the value of a_{m+1}^2 from (2.20) into (2.23) and using (2.19), we conclude that

$$a_{2m+1} = \frac{\tau \alpha (p_{2m} - q_{2m})}{2(\delta + 1)(\delta + 2)\Phi_1(\lambda, \gamma, m)} + \frac{\tau^2 \alpha^2 (m+1)(p_m^2 + q_m^2)}{4(\delta + 1)^2 \Phi_2(\lambda, \gamma, m)}.$$
(2.24)

Finally, taking the absolute value of (2.24) and applying Lemma 1 once again for the coefficients p_m , p_{2m} , q_m , and q_{2m} , we deduce that

$$|a_{2m+1}| \leq \frac{2|\tau|\alpha}{(\delta+1)(\delta+2)\Phi_1(\lambda,\gamma,m)} + \frac{2|\tau|^2\alpha^2(m+1)}{(\delta+1)^2\Phi_2(\lambda,\gamma,m)}.$$

This completes the proof.

Theorem 2 Let $f \in Q_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \alpha)$ be given by (1.5). Then,

$$\begin{aligned} \left|a_{2m+1} - \mu a_{m+1}^{2}\right| &\leq \frac{\alpha |\tau| |4\mu \tau \alpha \sigma_{2} - \sigma_{1}|}{\sigma_{1} \sigma_{2}} \max\left\{1, \left|\frac{\tau \alpha \sigma_{1} \sigma_{2}(m+1)}{(4\mu \tau \alpha \sigma_{2} - \sigma_{1})\sigma_{3}} - 1\right|\right\} \\ &+ \frac{\alpha |\tau| |4\mu \tau \alpha \sigma_{2} + \sigma_{1}|}{\sigma_{1} \sigma_{2}} \max\left\{1, \left|\frac{\tau \alpha \sigma_{1} \sigma_{2}(m+1)}{(4\mu \tau \alpha \sigma_{2} + \sigma_{1})\sigma_{3}} - 1\right|\right\} \end{aligned}$$
(2.25)

where

$$\sigma_{1} = (\delta + 1) \left[\tau \alpha (\delta + 2)(m+1) \left(1 + 2(\lambda + \gamma)m + \lambda \gamma \left((2m+1)^{2} + 1 \right) \right) + 2(1-\alpha)(\delta + 1) \left(1 + (\lambda + \gamma)m + \lambda \gamma \left((m+1)^{2} + 1 \right) \right)^{2} \right],$$
(2.26)

$$\sigma_2 = (\delta + 1)(\delta + 2)(1 + 2(\lambda + \gamma)m + \lambda\gamma((2m + 1)^2 + 1)),$$
(2.27)

and

$$\sigma_3 = (\delta + 1)^2 \left(1 + (\lambda + \gamma)m + \lambda\gamma \left((m + 1)^2 + 1 \right) \right)^2.$$
(2.28)

Proof For $\mu \in \mathbb{C}$, using equations (2.22) and (2.24) and arranging, we find

$$a_{2m+1} - \mu a_{m+1}^2 = \left(\frac{\alpha\tau}{2\sigma_2} - \frac{2\mu\tau^2\alpha^2}{\sigma_1}\right)p_{2m} + \frac{\tau^2\alpha^2(m+1)}{4\sigma_3}p_m^2 - \left(\frac{\alpha\tau}{2\sigma_2} + \frac{2\mu\tau^2\alpha^2}{\sigma_1}\right)q_{2m} + \frac{\tau^2\alpha^2(m+1)}{4\sigma_3}q_m^2$$
(2.29)

where σ_1 , σ_2 , and σ_3 are given by (2.26), (2.27), and (2.28), respectively.

Further computations using (2.29) yield

$$a_{2m+1} - \mu a_{m+1}^{2} = \frac{\alpha \tau (4\mu \tau \alpha \sigma_{2} - \sigma_{1})}{2\sigma_{1}\sigma_{2}} \bigg[p_{2m} - \frac{\tau \alpha \sigma_{1}\sigma_{2}(m+1)}{2(4\mu \tau \alpha \sigma_{2} - \sigma_{1})\sigma_{3}} p_{m}^{2} \bigg] - \frac{\alpha \tau (4\mu \tau \alpha \sigma_{2} + \sigma_{1})}{2\sigma_{1}\sigma_{2}} \bigg[q_{2m} - \frac{\tau \alpha \sigma_{1}\sigma_{2}(m+1)}{2(4\mu \tau \alpha \sigma_{2} + \sigma_{1})\sigma_{3}} q_{m}^{2} \bigg].$$
(2.30)

If we take

$$\mu_1 = \frac{\tau \alpha \sigma_1 \sigma_2 (m+1)}{2(4\mu \tau \alpha \sigma_2 - \sigma_1)\sigma_3} \tag{2.31}$$

and

$$\mu_2 = \frac{\tau \alpha \sigma_1 \sigma_2(m+1)}{2(4\mu \tau \alpha \sigma_2 + \sigma_1)\sigma_3},\tag{2.32}$$

then from (2.30), we get

$$|a_{2m+1} - \mu a_{m+1}^{2}| \leq \frac{\alpha |\tau| |4\mu \tau \alpha \sigma_{2} - \sigma_{1}|}{2\sigma_{1}\sigma_{2}} |p_{2m} - \mu_{1}p_{m}^{2}| + \frac{\alpha |\tau| |4\mu \tau \alpha \sigma_{2} + \sigma_{1}|}{2\sigma_{1}\sigma_{2}} |q_{2m} - \mu_{2}q_{m}^{2}|.$$

$$(2.33)$$

Hence, applying Lemmas 2 and (2.33) yields the Fekete-Szegö inequality for the class $Q_{\Sigma_m}(\tau,\lambda,\gamma,\delta;\alpha)$, as given by (2.25).

3 Coefficient bounds for the function class $\Theta_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \beta)$

In this section, we assume that

$$\lambda \geqq 0, \qquad 0 \leqq \gamma \leqq 1, \qquad 0 \leqq \beta < 1, \qquad \tau \in \mathbb{C} \setminus \{0\}, \qquad \delta \in \mathbb{N}_0 \quad \text{and} \quad m \in \mathbb{N}.$$

If $\mathcal{L}(z)$ is any complex-valued function such that $\mathcal{L}(z) = \beta + (1 - \beta)h(z)$, then

$$\operatorname{Re}(\mathcal{L}(z)) = \beta + (1 - \beta) \operatorname{Re}(h(z)) > \beta.$$

Definition 2 A function $f \in \Sigma_m$ given by (1.5) is called in the class $\Theta_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \beta)$ if it satisfies the following conditions:

$$\operatorname{Re}\left(1+\frac{1}{\tau}\left[(1-\lambda)(1-\gamma)\frac{\mathcal{R}^{\delta}f(z)}{z}+\left(\lambda(\gamma+1)+\gamma\right)\left(\mathcal{R}^{\delta}f(z)\right)'\right.\right.\right.\right.$$
$$\left.+\lambda\gamma\left(z\left(\mathcal{R}^{\delta}f(z)\right)''-2\right)-1\right]\right)>\beta,$$

$$(3.1)$$

and

$$\operatorname{Re}\left(1+\frac{1}{\tau}\left[(1-\lambda)(1-\gamma)\frac{\mathcal{R}^{\delta}g(w)}{z}+\left(\lambda(\gamma+1)+\gamma\right)\left(\mathcal{R}^{\delta}g(w)\right)'\right.\right.\right.\right.$$
$$\left.+\lambda\gamma\left(w\left(\mathcal{R}^{\delta}g(w)\right)''-2\right)-1\right]\right)>\beta,$$
(3.2)

where $z, w \in \mathbb{U}$ and the function $g = f^{-1}$ is given by (1.7).

Theorem 3 Let $f \in \Theta_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \beta)$ be given by (1.5). Then,

$$|a_{m+1}| \leq \min\left\{\frac{2|\tau|(1-\beta)}{(\delta+1)(1+m(\lambda+\gamma)+\lambda\gamma((m+1)^{2}+1))}, \\ 2\sqrt{\frac{2|\tau|(1-\beta)}{(\delta+1)(\delta+2)(m+1)\Phi_{1}(\lambda,\gamma,m)}}\right\},$$
(3.3)

and

$$|a_{2m+1}| \leq \frac{4|\tau|(1-\beta)}{(\delta+1)(\delta+2)(1+2(\lambda+\gamma)m+\lambda\gamma((2m+1)^2+1))}$$
(3.4)

where $\Phi_1(\lambda, \gamma, m)$ is defined by (2.5).

Proof It follows from (3.1) and (3.2) that

$$1 + \frac{1}{\tau} \left[(1 - \lambda)(1 - \gamma) \frac{\mathcal{R}^{\delta} f(z)}{z} + (\lambda(\gamma + 1) + \gamma) (\mathcal{R}^{\delta} f(z))' + \lambda \gamma (z (\mathcal{R}^{\delta} f(z))'' - 2) - 1 \right] = \beta + (1 - \beta) p(z),$$

$$(3.5)$$

and

$$1 + \frac{1}{\tau} \left[(1 - \lambda)(1 - \gamma) \frac{\mathcal{R}^{\delta}g(w)}{z} + (\lambda(\gamma + 1) + \gamma) (\mathcal{R}^{\delta}g(w))' + \lambda\gamma (w(\mathcal{R}^{\delta}g(w))'' - 2) - 1 \right] = \beta + (1 - \beta)q(z),$$
(3.6)

where p(z) and q(w) have the forms (2.9) and (2.10), respectively.

Clearly, we have

$$\beta + (1 - \beta)p(z) = 1 + (1 - \beta)p_m z^m + (1 - \beta)p_{2m} z^{2m} + (1 - \beta)p_{3m} z^{3m} + \cdots$$
(3.7)

and

$$\beta + (1 - \beta)q(w) = 1 + (1 - \beta)q_m w^m + (1 - \beta)q_{2m} w^{2m} + (1 - \beta)q_{3m} w^{3m} + \cdots$$
(3.8)

Equating the corresponding coefficients of (3.5) and (3.6) yields

$$\frac{(1+m(\lambda+\gamma)+\lambda\gamma((m+1)^2+1))(\delta+1)}{\tau}a_{m+1} = (1-\beta)p_m,$$
(3.9)

$$\frac{(1+2m(\lambda+\gamma)+\lambda\gamma((2m+1)^2+1))(\delta+1)(\delta+2)}{2\tau}a_{2m+1} = (1-\beta)p_{2m},$$
(3.10)

$$-\frac{(1+m(\lambda+\gamma)+\lambda\gamma((m+1)^2+1))(\delta+1)}{\tau}a_{m+1} = (1-\beta)q_m,$$
(3.11)

and

$$\frac{(1+2m(\lambda+\gamma)+\lambda\gamma((2m+1)^2+1))(\delta+1)(\delta+2)}{2\tau}[(m+1)a_{m+1}^2-a_{2m+1}]$$

= $(1-\beta)q_{2m}$. (3.12)

In view of (3.9) and (3.11), we find that

$$p_m = -q_m, \tag{3.13}$$

and

$$\frac{2(1+m(\lambda+\gamma)+\lambda\gamma((m+1)^2+1))^2(\delta+1)^2}{\tau^2}a_{m+1}^2 = (1-\beta)^2(p_m^2+q_m^2).$$
(3.14)

Adding (3.10) to (3.12), we obtain

$$\frac{(1+2m(\lambda+\gamma)+\lambda\gamma((2m+1)^2+1))(m+1)(\delta+1)(\delta+2)}{2\tau}a_{m+1}^2$$

= (1-\beta)(p_{2m}+q_{2m}). (3.15)

Hence, we find from (3.14) and (3.15) that

$$a_{m+1}^2 = \frac{\tau^2 (1-\beta)^2 (p_m^2 + q_m^2)}{2(\delta+1)^2 (1+m(\lambda+\gamma) + \lambda\gamma((m+1)^2 + 1))^2},$$
(3.16)

and

$$a_{m+1}^2 = \frac{2\tau(1-\beta)(p_{2m}+q_{2m})}{(\delta+1)(\delta+2)(m+1)(1+2(\lambda+\gamma)m+\lambda\gamma((2m+1)^2+1))},$$
(3.17)

respectively. By taking the absolute value of (3.16) and (3.17) and applying Lemma 1 for the coefficients p_m , p_{2m} , q_m , and q_{2m} , we deduce that

$$|a_{m+1}| \leq \frac{2|\tau|(1-\beta)}{(\delta+1)(1+(\lambda+\gamma)m+\lambda\gamma((m+1)^2+1))},$$

and

$$|a_{m+1}| \leq 2\sqrt{\frac{2|\tau|(1-\beta)}{(\delta+1)(\delta+2)(m+1)(1+2(\lambda+\gamma)m+\lambda\gamma((2m+1)^2+1))^2}},$$

respectively. To determine the bound on $|a_{2m+1}|$, by subtracting (3.12) from (3.10), we get

$$\frac{(\delta+1)(\delta+2)(1+2m(\lambda+\gamma)+\lambda\gamma((2m+1)^{2}+1))}{\tau}a_{2m+1} - \frac{(\delta+1)(\delta+2)(m+1)(1+2m(\lambda+\gamma)+\lambda\gamma((2m+1)^{2}+1))}{2\tau}a_{m+1}^{2}$$
$$= (1-\beta)(p_{2m}-q_{2m}).$$
(3.18)

Upon substituting the value of a_{m+1}^2 from (3.16) and (3.17) into (3.18), we conclude that

$$a_{2m+1} = \frac{\tau^2 (1-\beta)^2 (m+1) (p_m^2 + q_m^2)}{4(\delta+1)^2 (1+m(\lambda+\gamma) + \lambda\gamma((m+1)^2 + 1))^2} + \frac{\tau (1-\beta) (p_{2m} - q_{2m})}{(\delta+1)(\delta+2) \Phi_1(\lambda,\gamma,m)}$$
(3.19)

and

$$a_{2m+1} = \frac{2\tau(1-\beta)p_{2m}}{(\delta+1)(\delta+2)(1+2(\lambda+\gamma)m+\lambda\gamma((2m+1)^2+1))}.$$
(3.20)

Now, taking the absolute value of (3.19) and (3.20) and applying Lemma 1 once again for the coefficients p_m , p_{2m} , q_m , and q_{2m} , we deduce that

$$|a_{2m+1}| \leq \frac{2|\tau|^2(1-\beta)^2(m+1)}{(\delta+1)^2(1+(\lambda+\gamma)m+\lambda\gamma((m+1)^2+1))^2} + \frac{4|\tau|(1-\beta)}{(\delta+1)(\delta+2)\Phi_1(\lambda,\gamma,m)},$$

(2024) 2024:47

and

$$|a_{2m+1}| \leq \frac{4|\tau|(1-\beta)}{(\delta+1)(\delta+2)(1+2(\lambda+\gamma)m+\lambda\gamma((2m+1)^2+1))},$$

respectively. This completes the proof.

Next, we derive the Fekete-Szegö inequality for the class $\Theta_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \beta)$.

Theorem 4 Let $f \in \Theta_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \beta)$ be given by (1.5). Then,

$$\left|a_{2m+1} - \mu a_{m+1}^{2}\right| \leq \frac{2|\tau|(1-\beta)}{\rho_{1}} \left[\max\left\{1, \left|\frac{\tau(1-\beta)(2\mu-m-1)}{2\rho_{2}} - 1\right|\right\} + \max\left\{1, \left|\frac{\tau(1-\beta)(1+m-2\mu)}{2\rho_{2}} - 1\right|\right\} \right]$$
(3.21)

where

$$\rho_1 = (\delta + 1)(\delta + 2)(1 + 2(\lambda + \gamma)m + \lambda\gamma((2m + 1)^2 + 1))$$
(3.22)

and

$$\rho_2 = (\delta + 1)^2 \left(1 + m(\lambda + \gamma) + \lambda \gamma \left((m + 1)^2 + 1 \right) \right)^2.$$
(3.23)

Proof For $v \in \mathbb{C}$, using equations (3) (3.19) and arranging, we have

$$a_{2m+1} - \nu a_{m+1}^2 = \frac{\tau(1-\beta)}{\rho_1} \left[p_{2m} - \frac{\tau(1-\beta)(2\nu - m - 1)\rho_1}{4\rho_2} p_m^2 \right] - \frac{\tau(1-\beta)}{\rho_1} \left[q_{2m} - \frac{\tau(1-\beta)(1+m-2\nu)\rho_1}{4\rho_2} q_m^2 \right]$$
(3.24)

where ρ_1 and ρ_2 are given by (2.29) and (3.23), respectively.

If we take

$$\nu_1 = \frac{\tau (1 - \beta)(2\nu - m - 1)\rho_1}{4\rho_2}$$

and

$$\nu_2 = \frac{\tau (1 - \beta)(1 + m - 2\nu)\rho_1}{4\rho_2},$$

then from (3.24), we get

$$\left|a_{2m+1} - \nu a_{m+1}^{2}\right| \leq \frac{|\tau|(1-\beta)}{\rho_{1}} \left|p_{2m} - \nu_{1} p_{m}^{2}\right| + \frac{|\tau|(1-\beta)}{\rho_{1}} \left|q_{2m} - \nu_{2} q_{m}^{2}\right|.$$
(3.25)

Hence, our result follows from (3.25) by applying Lemma 2.

4 Corollaries and consequences

This section is devoted to demonstrating of some special cases of the definitions and theorems. These results are given in the form of remarks and corollaries.

Remark 1 It should be noted that the classes $Q_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \alpha)$ and $\Theta_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \beta)$ are generalizations of well-known classes considered earlier. These classes are:

- For δ = γ = 0 and τ = λ = 1, the classes Q_{Σm}(τ, λ, γ, δ; α) and Θ_{Σm}(τ, λ, γ, δ; β) reduce to the classes H^α_{Σ,m} and H_{Σ,m}(β), respectively, which were given by Srivastava et al.
 [20].
- 2. For $\delta = \gamma = 0$ and $\tau = 1$, the classes $Q_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \alpha)$ and $\Theta_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \beta)$ reduce to the classes $\mathcal{A}_{\Sigma,m}^{\alpha,\lambda}$ and $\mathcal{A}_{\Sigma,m}^{\lambda}(\beta)$, respectively, which were recently investigated by Eker [21].
- 3. For $\gamma = 0$ and $\tau = 1$, the class $\Theta_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \beta)$ reduces to the class $\Xi_{\Sigma_m}(\lambda, \delta; \beta)$, which was studied by Sabir et al. [28].
- 4. For $\delta = 0$, the classes $Q_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \alpha)$ and $\Theta_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \beta)$ reduce to the classes $WS_{\Sigma_m}(\lambda, \gamma, \tau; \alpha)$ and $WS^*_{\Sigma_m}(\lambda, \gamma, \tau; \beta)$, respectively, which were considered recently by Srivastava and Wanas [29].
- 5. For $\delta = \gamma = 0$, the classes $Q_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \alpha)$ and $\Theta_{\Sigma_m}(\tau, \lambda, \gamma, \delta; \beta)$ reduce to the classes $\mathcal{B}_{\Sigma_m}(\tau, \lambda; \alpha)$ and $\mathcal{B}^*_{\Sigma_m}(\tau, \lambda; \beta)$, respectively, which were recently introduced by Srivastava et al. [30].

Remark 2 In Theorem 1, if we choose

- 1. δ = 0, then we obtain the results, which were proven by Srivastava and Wanas [29, Theorem 2.1].
- 2. $\delta = 0$ and $\gamma = 0$, then we obtain the results, which were given by Srivastava et al. [30, Theorem 2.1].
- 3. $\delta = 0$, $\gamma = 0$ and $\tau = 1$, then we obtain the results, which were obtained by Eker [21, Theorem 1].
- 4. $\delta = 0$, $\gamma = 0$, $\lambda = 1$ and $\tau = 1$, then we obtain the results, which were proven by Srivastava et al. [20, Theorem 2].

By taking $\delta = 0$ in Theorem 3, we conclude the following result.

Corollary 1 Let $f \in \Theta_{\Sigma_m}(\tau, \lambda, \gamma; \beta)$ be given by (1.5). Then,

$$|a_{m+1}| \leq \min \left\{ \frac{2|\tau|(1-\beta)}{1+m(\lambda+\gamma)+\lambda\gamma((m+1)^2+1)}, \\ 2\sqrt{\frac{|\tau|(1-\beta)}{(m+1)(1+2m(\lambda+\gamma)+\lambda\gamma((2m+1)^2+1))}} \right\},$$

and

$$|a_{2m+1}| \leq \frac{2|\tau|(1-\beta)}{1+2m(\lambda+\gamma)+\lambda\gamma((2m+1)^2+1)}.$$

Remark 3 The bounds on $|a_{m+1}|$ and $|a_{2m+1}|$ given in Corollary 1 are better than those given in [29, Theorem 3.1].

By taking $\gamma = 0$ in Corollary 1, we conclude the following result.

Corollary 2 Let $f \in \Theta_{\Sigma_m}(\tau, \lambda; \beta)$ be given by (1.5). Then,

$$|a_{m+1}| \le \min\left\{\frac{2|\tau|(1-\beta)}{1+m\lambda}, 2\sqrt{\frac{|\tau|(1-\beta)}{(m+1)(1+2m\lambda)}}\right\},\$$

and

$$|a_{2m+1}| \leq \frac{2|\tau|(1-eta)}{1+2m\lambda}.$$

Remark 4 The bounds on $|a_{m+1}|$ and $|a_{2m+1}|$ given in Corollary 2 are better than those given in [30, Theorem 3.1].

By setting $\gamma = 0$ and $\tau = 1$ in Corollary 1, we conclude the following result.

Corollary 3 Let $f \in \Theta_{\Sigma_m}(\lambda; \beta)$ be given by (1.5). Then,

$$|a_{m+1}| \leq \min\left\{\frac{2(1-\beta)}{1+m\lambda}, 2\sqrt{\frac{(1-\beta)}{(m+1)(1+2m\lambda)}}\right\},$$

and

$$|a_{2m+1}| \leq \frac{2(1-\beta)}{1+2m\lambda}.$$

Remark 5 The bounds on $|a_{m+1}|$ and $|a_{2m+1}|$ given in Corollary 3 are better than those given in [21, Theorem 2].

By setting $\gamma = 0$ and $\lambda = \tau = 1$ in Corollary 1, we conclude the following result.

Corollary 4 Let $f \in \Theta_{\Sigma_m}(\beta)$ be given by (1.5). Then,

$$|a_{m+1}| \leq \min\left\{\frac{2(1-\beta)}{1+m}, 2\sqrt{\frac{(1-\beta)}{(m+1)(1+2m)}}\right\},\$$

and

$$|a_{2m+1}| \leq \frac{2(1-\beta)}{1+2m}.$$

Remark 6 The bounds on $|a_{m+1}|$ and $|a_{2m+1}|$ given in Corollary 4 are better than those given in [20, Theorem 3].

Remark 7 For 1-fold symmetric bi-univalent functions, the classes $Q_{\Sigma_1}(\tau, \lambda, \gamma, \delta; \alpha) \equiv Q_{\Sigma}(\tau, \lambda, \gamma, \delta; \alpha)$ and $\Theta_{\Sigma_1}(\tau, \lambda, \gamma, \delta; \beta) \equiv \Theta_{\Sigma}(\tau, \lambda, \gamma, \delta; \beta)$ are special cases of these classes illustrated below:

1. For $\delta = 0$, the classes $Q_{\Sigma}(\tau, \lambda, \gamma, \delta; \alpha)$ and $\Theta_{\Sigma}(\tau, \lambda, \gamma, \delta; \beta)$ reduce to the classes $WS_{\Sigma}(\lambda, \gamma, \tau; \alpha)$ and $WS_{\Sigma}^{*}(\lambda, \gamma, \tau; \beta)$, respectively, which were recently introduced by Srivastava and Wanas [29].

- 2. For $\delta = \gamma = 0$ and $\tau = 1$, the classes $Q_{\Sigma}(\tau, \lambda, \gamma, \delta; \alpha)$ and $\Theta_{\Sigma}(\tau, \lambda, \gamma, \delta; \beta)$ reduce to the classes $\mathcal{B}_{\Sigma}(\alpha, \lambda)$ and $\mathcal{B}_{\Sigma}(\beta, \lambda)$, respectively, which were recently investigated by Frasin and Aouf [8].
- 3. For $\delta = \gamma = 0$ and $\tau = \lambda = 1$, the classes $Q_{\Sigma}(\tau, \lambda, \gamma, \delta; \alpha)$ and $\Theta_{\Sigma}(\tau, \lambda, \gamma, \delta; \beta)$ reduce to the classes $\mathcal{H}_{\Sigma}(\alpha)$ and $\mathcal{H}_{\Sigma}(\beta)$, respectively, which were given by Srivastava et al. [6].

For 1-fold symmetric bi-univalent functions, Theorem 1 reduces to the following corollary:

Corollary 5 Let

$$f \in \mathcal{Q}_{\Sigma}(\tau, \lambda, \gamma, \delta; \alpha) \quad (\lambda \geqq 0, 0 \leqq \gamma \leqq 1, 0 < \alpha \leqq 1, \tau \in \mathbb{C} \setminus \{0\}, \delta \in \mathbb{N}_0)$$

be given by (1.1). Then,

$$|a_2| \leq \frac{2|\tau|\alpha}{\sqrt{(\delta+1)|\tau\alpha(\delta+2)(1+2(\lambda+\gamma+5\lambda\gamma))+(1-\alpha)(\delta+1)(1+\lambda+\gamma+5\lambda\gamma)^2|}},$$

and

$$|a_3| \leq \frac{2|\tau|\alpha}{(\delta+1)(\delta+2)(1+2(\lambda+\gamma+5\lambda\gamma))} + \frac{4|\tau|^2\alpha^2}{(\delta+1)^2(1+\lambda+\gamma+5\lambda\gamma)^2}.$$

Remark 8 In Corollary 5, if we choose

- 1. δ = 0, then we obtain the results, which were given by Srivastava and Wanas [29, Corollary 2.1].
- 2. $\delta = 0$, $\gamma = 0$ and $\tau = 1$, then we obtain the results, which were proven by Frasin and Aouf [8, Theorem 2.2].
- 3. $\delta = 0$, $\gamma = 0$, $\lambda = 1$ and $\tau = 1$, then we obtain the results, which were obtained by Srivastava et al. [6, Theorem 1].

For 1-fold symmetric bi-univalent functions, Theorem 3 reduces to the following corollary:

Corollary 6 Let

$$f \in \Theta_{\Sigma}(\tau, \lambda, \gamma, \delta; \beta) \quad \left(\lambda \geqq 0, 0 \leqq \gamma \leqq 1, 0 \leqq \beta < 1, \tau \in \mathbb{C} \setminus \{0\}, \delta \in \mathbb{N}_0\right)$$

be given by (1.1). Then,

$$|a_2| \leq \min\left\{\frac{2|\tau|(1-\beta)}{(\delta+1)(1+\lambda+\gamma+5\lambda\gamma)}, 2\sqrt{\frac{|\tau|(1-\beta)}{(\delta+1)(\delta+2)(1+2(\lambda+\gamma+5\lambda\gamma))}}\right\},\$$

and

$$|a_3| \leq \frac{4|\tau|(1-\beta)}{(\delta+1)(\delta+2)(1+2(\lambda+\gamma+5\lambda\gamma))}.$$

By taking $\delta = 0$ in Corollary 6, we have the following result.

Corollary 7 Let

$$f \in \Theta_{\Sigma}(\tau, \lambda, \gamma; \beta) \quad \left(\lambda \geqq 0, 0 \leqq \gamma \leqq 1, 0 \leqq \beta < 1, \tau \in \mathbb{C} \setminus \{0\}\right)$$

be given by (1.1). Then,

$$|a_2| \leq \min\left\{\frac{2|\tau|(1-\beta)}{1+\lambda+\gamma+5\lambda\gamma}, \sqrt{\frac{2|\tau|(1-\beta)}{1+2(\lambda+\gamma+5\lambda\gamma)}}\right\},\$$

and

$$|a_3| \leq rac{2| au|(1-eta)}{1+2(\lambda+\gamma+5\lambda\gamma)}.$$

Remark 9 The bounds on $|a_2|$ and $|a_3|$ given in Corollary 7 are better than those given in [29, Corollary 3.1].

By setting $\delta = \gamma = 0$ and $\tau = 1$ in Corollary 6, we conclude the following result.

Corollary 8 Let

$$f \in \Theta_{\Sigma}(\lambda; \beta) \quad (\lambda \ge 0, 0 \le \beta < 1)$$

be given by (1.1). Then,

$$|a_2| \leq \min\left\{\frac{2(1-\beta)}{1+\lambda}, \sqrt{\frac{2(1-\beta)}{1+2\lambda}}\right\},\$$

and

$$|a_3| \leq \frac{2(1-\beta)}{1+2\lambda}.$$

Remark 10 The bounds on $|a_2|$ and $|a_3|$ given in Corollary 8 are better than those given in [8, Theorem 3.2].

By setting $\delta = \gamma = 0$ and $\lambda = \tau = 1$ in Corollary 6, we conclude the following result.

Corollary 9 Let $f \in \Theta_{\Sigma}(\beta)$ $(0 \leq \beta < 1)$ be given by (1.1). Then,

$$|a_2| \leq \min\left\{1-\beta, \sqrt{\frac{2(1-\beta)}{3}}\right\},$$

and

$$|a_3| \leq \frac{2(1-\beta)}{3}.$$

Remark 11 The bounds on $|a_2|$ and $|a_3|$ given in Corollary 9 are better than those given in [6, Theorem 2].

Acknowledgements

Researchers Supporting Project number (RSP2024R153), King Saud University, Riyadh, Saudi Arabia.

Funding

Not applicable.

Data Availability

No datasets were generated or analysed during the current study.

Declarations

Ethics approval and consent to participate

This paper does not contain any studies with human participants or animals by any of the authors.

Competing interests

The authors declare no competing interests.

Author contributions

Hari Mohan Srivastava: Conceptualization, Methodology, Software, Visualization, Investigation, Writing – original draft. Pishtiwan Othman Sabir: Software, Formal analysis, Visualization, Writing – original draft, Writing – review & editing, Funding acquisition. Sevtap Sümer Eker: Validation, Resources, Methodology, Investigation, Data curation, Writing – original draft. Abbas Kareem Wanas: Resources, Methodology, Investigation, Data curation. Pshtiwan Othman Mohammed: Validation, Resources, Methodology, Investigation. Nejmeddine Chorfi: Supervision, Project administration, Writing – review & editing. Dumitru Baleanu: Supervision, Writing – review & editing, Funding acquisition.

Author details

¹Department of Mathematics and Statistics, University of Victoria, Victoria, British Columbia V8W 3R4, Canada. ²Section of Mathematics, International Telematic University Uninettuno, I-00186 Rome, Italy. ³Center for Converging Humanities, Kyung Hee University, 26 Kyungheedae-ro, Dongdaemun-gu, Seoul 02447, Republic of Korea. ⁴Department of Mathematics, College of Science, University of Sulaimani, Sulaymaniyah 46001, Iraq. ⁵Department of Mathematics, College of Science, University, TR-21280, Diyarbakır, Turkey. ⁶Department of Mathematics, College of Science, University of Al-Qadisiyah, Al-Diwaniyah 58001, Iraq. ⁷Department of Mathematics, College of Education, University of Sulaimani, Sulaymaniyah 46001, Iraq. ⁹Department of Mathematics, College of Science, University of Sulaimani, Sulaymaniyah 46001, Iraq. ⁹Department of Mathematics, College of Science, University of Sulaimani, Sulaymaniyah 46001, Iraq. ⁹Department of Mathematics, College of Science, University of Sulaimani, Sulaymaniyah 46001, Iraq. ⁹Department of Mathematics, College of Science, King Saud University, PO. Box 2455, Riyadh 11451, Saudi Arabia. ¹⁰Department of Computer Science and Mathematics, Lebanese American University, Beirut 11022801, Lebanon. ¹¹Institute of Space Sciences, R76900 Magurele-Bucharest, Romania.

Received: 31 January 2024 Accepted: 9 March 2024 Published online: 02 April 2024

References

- 1. Ruscheweyh, S.: New criteria for univalent functions. Proc. Am. Math. Soc. 49, 109–115 (1975)
- 2. Duren, PL.: Univalent Functions. Grundlehren der Mathematischen Wissenschaften, vol. 259. Springer, New York (1983)
- 3. Lewin, M.: On a coefficient problem for bi-univalent functions. Proc. Am. Math. Soc. 18(1), 63–68 (1967)
- 4. Brannan, D.A., Clunie, J.G.: Aspects of Contemporary Complex Analysis. Proceedings of the NATO Advanced Study Institute Held at the University of Durham, Durham; July 1-20, 1979. Academic Press, London (1980)
- Netanyahu, E.: The minimal distance of the image boundary from the origin and the second coefficient of a univalent function in |z| < 1. Arch. Ration. Mech. Anal. 32(2), 100–112 (1969)
- Srivastava, H.M., Mishra, A.K., Gochhayat, P.: Certain subclasses of analytic and bi-univalent functions. Appl. Math. Lett. 23, 1188–1192 (2010)
- Sabir, P.O.: Some remarks for subclasses of bi-univalent functions defined by Ruscheweyh derivative operator. Filomat 38(4), 1255–1264 (2024)
- 8. Frasin, B.A., Aouf, M.K.: New subclasses of bi-univalent functions. Appl. Math. Lett. 24, 1569–1573 (2011)
- Eker, S.S., Şeker, B.: On λ-pseudo bi-starlike and λ-pseudo bi-convex functions with respect to symmetrical points. Tbil. Math. J. 11(1), 49–57 (2018)
- Srivastava, H.M., Sabir, P.O., Abdullah, K.I., Mohammed, N.H., Chorfi, N., Mohammed, P.O.: A comprehensive subclass of bi-univalent functions defined by a linear combination and satisfying subordination conditions. AIMS Math. 8(12), 29975–29994 (2023)
- 11. Al-Hawary, T., Amourah, A., Alsoboh, A., Alsalhi, O.: A new comprehensive subclass of analytic bi-univalent functions related to Gegenbauer polynomials. Symmetry **15**, 576 (2023)
- 12. Madaana, V., Kumar, A., Ravichandran, V.: Estimates for initial coefficients of certain bi–univalent functions. Filomat 35(6), 1993–2009 (2021)
- Wanas, A.K., Sokół, J.: Applications Poisson distribution and Ruscheweyh derivative operator for bi-univalent functions. Kragujev. J. Math. 48, 89–97 (2024)
- 14. Patil, A., Khairnar, S.M.: Coefficient bounds for bi-univalent functions with Ruscheweyh derivative and Sălăgean operator. CMAJ, Can. Med. Assoc. J. 14(3), 1161 (2023)
- Srivastava, H.M., Eker, S.S., Ali, R.M.: Coefficient bounds for a certain class of analytic and bi-univalent functions. Filomat 29(8), 1839–1845 (2015)
- 16. Zireh, A., Adegani, E.A., Bidkham, M.: Faber polynomial coefficient estimates for subclass of bi-univalent functions defined by quasi-subordinate. Math. Slovaca **68**, 369–378 (2018)

- Hamidi, S.G., Jahangiri, J.M.: Faber polynomial coefficient estimates for analytic bi-close-to-convex functions. C. R. Math. 352(1), 17–20 (2014)
- El-Deeb, S.M., Bulut, S.: Faber polynomial coefficient estimates of bi-univalent functions connected with the *a*-convolution. Math. Bohem. 148(1), 49–64 (2023)
- 19. Koepf, S.M.: Coefficients of symmetric functions of bounded boundary rotation. Proc. Am. Math. Soc. **105**, 324–329 (1989)
- Srivastava, H.M., Sivasubramanian, S., Sivakumar, R.: Initial coeffcient bounds for a subclass of *m*-fold symmetric bi-univalent functions. Tbil. Math. J. 7(2), 1–10 (2014)
- 21. Eker, S.S.: Coefficient bounds for subclasses of *m*-fold symmetric bi-univalent functions. Turk. J. Math. **40**, 641–646 (2016)
- Breaz, D., Cotîrlă, L.-I.: The study of coefficient estimates and Fekete–Szegö inequalities for the new classes of *m*-fold symmetric bi-univalent functions defined using an operator. J. Inequal. Appl. 2023, 15 (2023)
- Sabir, P.O., Srivastava, H.M., Atshan, W.G., Mohammed, P.O., Chorfi, N., Vivas-Cortez, M.: A family of holomorphic and *m*-fold symmetric bi-univalent functions endowed with coefficient estimate problems. Mathematics 11(18), 3970 (2023)
- 24. Swamy, S.R., Frasin, B.A., Aldawish, I.: Fekete–Szegö functional problem for a special family of *m*-fold symmetric bi-univalent functions. Mathematics **10**(7), 1165 (2022)
- 25. Zhang, F., Wu, W., Song, R., Wang, C.: Dynamic learning-based fault tolerant control for robotic manipulators with actuator faults. J. Franklin Inst. 360(2), 862–886 (2023)
- Nie, Y., Zhang, J., Su, R., Ottevaere, H.: Freeform optical system design with differentiable three-dimensional ray tracing and unsupervised learning. Opt. Express 31, 7450–7465 (2023)
- Ma, W.C., Minda, D.: A unified treatment of some special classes of univalent functions. In: Proceedings of the Conference on Complex Analysis, Tianjin, pp. 157–169 (1992)
- Sabir, P.O., Agarwal, R.P., Mohammedfaeq, S.J., Mohammed, P.O., Chorfi, N., Abdeljawad, T.: Hankel determinant for a general subclass of *m*-fold symmetric biunivalent functions defined by Ruscheweyh operators. J. Inequal. Appl. 2024(1), 14 (2024)
- Srivastava, H.M., Wanas, A.K.: Initial Maclaurin coefficients bounds for new subclasses of analytic and *m*-fold symmetric bi-univalent functions defined by a linear combination. Kyungpook Math. J. 59(3), 493–503 (2019)
- Srivastava, H.M., Gaboury, S., Ghanim, F.: Initial coeffcient estimates for some subclasses of *m*-fold symmetric bi-univalent functions. Acta Math. Sci. Ser. B 36(3), 863–871 (2016)

Publisher's Note

Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.

Submit your manuscript to a SpringerOpen[®] journal and benefit from:

- Convenient online submission
- ► Rigorous peer review
- ► Open access: articles freely available online
- ► High visibility within the field
- Retaining the copyright to your article

Submit your next manuscript at > springeropen.com